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Vol =
FER N E
TH4 | FEARS 75 EfEM XS THAER T3
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
JERRH R X 1 34, 693, 042
HEELT = 1 480, 536
HRHEI T = 1 42,560 |#EH! 140 m3
THp A7 iy L EEME 5, 000m3LL 10,
000m3 AT ;
BRE LT = 1 374,097 | HEERE T 420 m3
4. 0mPL E
b 330 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 330 m3
+1 &850, 000m3ATH ;
Rkt A = 1 63,879 | 1L (8] 1) 30 m2
BGHROE VP R OWE + e+
T (B ) 90 m2
T i S O I BRI
AR B T = 1 9, 598, 500
TEWE T 2 1 9,598,500 | HECLE (0 yIRNRA 4,500 m3
T BEAEA 1m3 Y4 O FH £&30keg/m3 A KR E AL
OB AR VY
IR = 1 62, 775
fiA T 2 1 62,775 | ALIEZ 90 m2
774+ & BE100cm ;
A 2 1 2,244, 599
e+ T 2 1 156, 119 |FR3E Y 1 X
+4)
HEL 1 X
HmEEE 1 =X
FEIA O=27) 1 =X
b 550, 000m3 A ;
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Vol =
FER N E
TH4 | FEARS 75 EfEM XS THAER T3
TSy « TfE - FER B {7 ¥ & & A bl A iR
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
7 VR AN = T 2 1 2,088,480 |7 VEyAME /A 20 m
B1000 X H1000 ;
[T 2 1 229, 620
R R T = 1 229,620 | R 1,000 m2
R
[Z= 1,000 m2
PHTAR
B 2,000 m2
TEIA 2,000 m2
BRIEALSY 1 t
s ALER T = 1 1, 310, 350
S BSLERVEZE T = 1 1,310, 350 |5 %5# 1 =
% 1 X
HEE L = 1 131, 670
REVEITUE L T = 1 81, 150 |av))-MEEMEUE L 10 m3
IAAEIEY B T
TR AL T = 1 50, 520 | BGER 10 m3
/)Y —-hik (AT 5
By 10 m3
/) - bk BEA%)
rGan 2 1 20, 634, 992
THEHER T £ 1 13,019,561 |#@H] 330 m3
T A7 iy L EEM 5 000m3LL 10,
000m3 AV ;
A 2, 500 m3
(FEHIFEHEDY)
T A7 iy L EEM 5 000m3LL 10,
000m3 AVl ;
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BRI (Bite) R+ 340 m3
2. 5mAT ;

BRI (Bite) R+ 690 m3
2. 5mPL 4. OmARTi ;

BRI (Bite) R+ 5, 300 m3
4. omPh Lk

TEEFETE (8] 1356) 560 m2
BGHROE VP R OWE + e+

LRI (B 1350) 3, 250 m2
TR I S O M BRI M

FHIA Ob-27) 6, 300 m3
+1 850, 000m3AT ;

oAb E 6, 330 m3
0 CaBl- EHIRY £5Te) ;

T wb AT 1 X
(FELIZEERDL)
0 CaBl- EHIRY £5Te) ;

e 1 =
(FELIZEERDL)
B2 A couE

ezl 280 m2
HA)T9v47y RC-40 BE 100mm ;

ezl 3, 020 m2
(CFHERK)
HA)T9v477 RC-40 B/E 100mm ;

B ) L =X 1 258,167 |tm 9 30 £
ittt kA 0 5 H=l. 1m W=1. Im RHEZE RS
I (34E) 1

K T = 1 5,857,864 |MFIEHEAS 35 m
(1+3-4 5 REHTIEIR)
EEER VIR 600 Vo) VR (EFLE) |

KSR K 63 m
(2 B FE T IR 52)
IR )TV ¢ 1000 Yo vl (AL
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TV 77 m3
BRSS9 1000mm FFAE)79v47Y RCAO ;

AEEHE T Y 1 1,499, 400 | A2 FHEZAE S 1 =
[ERAE Xy = 1 34, 693, 042
IR 2 1 6, 522, 700
Mo R 2 = 1 2,276, 700

ey = 1 1,609,900 |ZAEHE 1 =

HeffrE sy = 1 244,800 | AR RERE 1 3

TE R AT -IMERE A 1 =
BGRESGESE (5 L) = 1 422, 000
B (FEHL) = 1 4, 246, 000
T = 1 41, 215, 742
Bl gy 2 1 14, 821, 000
T =5l = 1 70, 782, 873
— R A 2 1 12, 477, 127
TS 2 1 83, 260, 000

-4 - E ta2@d Ui




[REA ST i LT Hh 5

=+ /A = e
FEAENGRE e
T4 | BEARS 75 XA T HER T
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
JE O R 2 1 2,286, 374
EHET = 1 1,613, 503
A T Y 1 1,485, 141 |4@H! 1, 800 m3
W A7 by b PP BEEME 5, 000m3ATH ;
b E 1 F2V
b G- ERIRY L&)
el 1 =
et AL TONLEER
AR LT Y 1 128, 362 | B&{A (BEER) BE 1= 10 m3
2. bmATH ;
EuNE R 80 m3
2. 5mPL 4. OmARTi ;
A Y 1 672,871
IR T Y 1 111,271 | RELEHEKAE 25 m
ko
M ER JzFv/) 77 % ¢ 1000 R30 ;
Bl A S iE 1 F2V
ko
M ER JzFv/) 77 % ¢ 1000 R30 L=5000 ;
AEEHE T Y 1 561, 600 | AZ Wk B Y 5 1 =
[ERAE Xy = 1 2,286, 374
IR 2 1 8, 400, 757
BISTI S = 1 7,796, 757
Hefif & 2 1 7,721, 757 |fxiRdy 1 =
ARG 1 =
BGRESCESE (5 L) = 1 75, 000
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sty (R L) 2V 1 604, 000
ol T 2V 1 10, 687, 131

e R E20 1 4, 059, 000
T AT 2V 1 14, 746, 131
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